POLAR CIRCLES
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Equation Description

r = 2asin 0 Circle; radius a; center at
rectangular coordinate (0,a)

r =-2asin @ | Circle; radius a; center at
rectangular coordinate (0,-a)

r =2acos 0 Circle; radius a; center at
rectangular coordinate (a,0)
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Cardioid

r=a(l + cos 0)

r=a(l - cos 0)
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r=a(l +sin 0) .
r=a(l - sin 0)
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ROSE CURVES

r = a sin n@, n odd
O=6=m
n petals
y-axis symmetry

r = a cos nf, n odd
O=6=m
n petals
Xx-axis symmetry

r = a sin nf, n even
0=6=2=nw
2n petals
y-axis symmetry and
Xx-axis symmetry

r = a cos nf, n even
0=6=2w
2n petals
y-axis symmetry and
Xx-axis symmetry

Dimpled Limacon

r=a+ bsinG, r=a+ bcosb,

a +0,b#0,1<

<2
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r=a + bcosé r=a — bcosé
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r=a + bsiné r=a — bsiné



